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1. Which of the following statements is NOT

correct?

(A) All elements are made up of Atoms

(B) Mass Number of an atom equals the number
of protons plus number of Neutrons plus

number of electrons

(C) lsotopes have different mass numbers

(D) Atoms are electrically neutral

Eaq a] * q')_a ?TT e'ercr s|{raq- !
(A)rrafl aa q..flrg S qa eH 'd r

(B) ftF-€1 q-zary 6t dqara {iwr tBa,
-^=i_aol 

"i@-r 
* qlq do<l€t ol cl<-.t | ?fl crFl

-->--+ \6l<l6l< 6lclt 6

(C) sngsrBql efi rqana "i@r fDra fh*a
6tcl I 5

(D)u-zang tga av * nge<r eh E

2. Which of the following statements is correct?

(A) Chemical changes are not governed by laws

of thermodynamics
(B) All biological processes are governed bythe
laws of thermodynamics

(C) Free energy of a chemical reaction is not
released to the environment
(D) The complete range of electromagnetic
spectrum does not include the U.V. rays

ftra. fr * dia r{T 6erEr z16 E
(A) zzrrs"E,.-6 qftsd-a efuF-+zr +
4... r- _> .: ,,C\, rr _:\ Srtdt<..tdlt <t {1r-iltcncl q6t 6lc1 6

(B) zra-za ffE ffii ercEf-slEeFrcrr{ d
c\, .- .x -.> .' ,f\ - -),-a -tr
l6t<tflt tJ tJ<.lilc'1cl 6tcl | 6

(C)Tq"iT sqi q] zre+rqE_o b-qr A fierer
+.fi t. Erd Erdrqzur d FzarFa Erff d"fr
a

(O) gt@86 T+dg;r .r,') eiWf a{rel
fr U.V. ffi Ei 

"rfiqii{.T 
a-S fin-en qrar

S
6

3. The bond formed between two
monosaccharide's is called as?

(A) Glycosidic bond

(B) Hydrogen bond

(C) Phosphate bond

(D) Phosphodiester bond

* c-o-ozr+'rr * etq oa.A ardl der @t___-_ \ ^q)oc.t tclt & (

(A) aanerotzrrgB-qt 6iu

(B)arzsiqa <iq

(C)mBe aier

(D)otz+}srg+ae eiu

4.Which one of the following is NOT a ploymer
of Glucose?

(A)Starch (B) Cellulose

(C) Callose (D) inulin

B-F d "] d-il{rr rzirs?i acFbtq 6T
----cL + ^clgflq) q6t 6 (

(A)".€rd (e)irqde''
(C)#r.d (D)sgftr-d

5. By what metabolic process would water be

made available from fat?

(A) Oxidation

(B) Reduction

(C) Hydrolysis

(D) Phosphorylation

d=rt.ff rqrq-ilera qfiaer * *d * qfff
Sqc.idl gf tTq;af E
(A) sffiozor
(g)Esrn-a
(C)6rflqtfalt{"{
(D)vffiera
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6. Suppose A and B are two different amino

acids. How many different types of
polypeptides could be made from these two
amino acids?

(A) 2

(c) 6

araT frF Aaen BA srffi 3as.a $1 gn
A sraffi ermJ i{ ftrde 3{EfrI 3{ErrI
qo"rs * d-gier5 qa zr-o-d E r

(Al z (B) +

(c) o (D) a

7. Which of the following is true for the

i nstru m enta I com ponents of U.V- spectroscopy?

(A) Monechromater, Cuvette, beam selector,

detector
(B) Monochromater, X-ray source, sample,

d ete cto r

(C) Monochromater, sample, photocell,

Recorder

(D) Monochromater, Iinear polarizer, sample,

Recorder

U.V. trrffift d sroqd or da z{r F-#I
z{S B?
(n)ffi22, qi-e, d-a zrd-w-s, Bt€{
(a) anrffic-r, p.cz+-t, *e-d, GlcFd-{

(C)ffic-s, *qd, taH-a, kbHz
(D) alats-Bdz, fAftr?rrrn-")zrgu-2, zlary,
.-\ .\ t,ItcI)tS{

8. Gas - liquid chromatography is useful for?

(A) Volatile, non- polar compounds

(B) Compounds with a net charge

(C) Non-lonic water soluble compounds

(D) Water insoluble compounds

*:r-lirtr rs olffia+dt trrt{$t gqq)aft B
/^\-\: 

-- -;- .n-cl{ zi}Frc]i[A/l qlclcl Qc'l r c] lot-t

(B)SFr6 ffii fr-f ard e)
(c)d-asrr*Ero; wd-q Fqmq-"r qlFro
(D)cra d fua-s-a a # dra s}Fro

9. For TEM, the sections after mouinting onto

the EM grids are stained with?

(A) Safranin and light green

(B) Calcoflour white

(C) Uranyl acetate and Lead citrate

(D) Gluteraldehyde

g@ET a6oUq (TEM) *t EM fus qz
Tse d qra ftntr$ €;4 frF-qr qrar ? z
(n)ME-""a aen an5affa
/h\ -)----.:-----)'- ..=-_

Ib, cDc'cDltDc-l I t cl l?c

(c)e$aru-a tft{--d q ds tr6*e
(O)a-qeift<-ergs

10. Which one of the following medium cannot

be used for immersion lenses?

(A)oir

(B) Glycerol

(C) Formaldehyde

(D)Water

gf€rd !r6rJ A di-e+ di d-a r{T ar€qfl
sq-ffi a-61 B ?
(A)sfrq-n
(A)a-ffiet
(C)q"rfrkei-gs
(D)qrff

(B) 4

(D) 8
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11. Radicisotopes are not required in which of
the following techniques?

(A) Southern hybridization
(B) lmmunoassays

(C) Hydridoma technology
(D) DNA Probes

ffi f6-6ftan ji tHsrrgeDu
3q-*rr q-s_ff a-e1 E a
(Aizrgd arfuera
(B)sqF!-+{r
(C)arg-ffinr a-or-Sze
(D)S!-d!- rilq{

12. Which one of the following was constructed
by combining the centromere, telomere and
autonomously replicating sequence?

(A) P BR 322

(B) Cosmid

(c) BAC

(D)YAC

ffirs dqT T4?[: Bgf}rd
FH or"ft 6H -b} kerr+-z ffi dETrzrr
ar+r ?
(A) P BR 322

(B)enr-.Ss

(C) BAC qro
(D)YACe-m

13. Which one of the following methods is best
suited for studying protein - protein
interaction ?

(A) DNA Foot Printing

(B) Yeast two hybrid system

(C) Primer extension
(D) PCR

dAa-fr8a d qrrsqft-o fu-qr + s{€{e{ci*i ffi qB-qr rrrjffua B z
(A)Sudu qeftjlZa-t
(B)efftz-z 6r€Bs iirza
(C)qrgru f?ttnFor-r
(D)$-zfterrs

14. Collection of clones containing every single
gene present in an organism is called?
(A)Genomic Library

(B) c- DNA Library

(C) DNA-microarrays

(D) Genomics

frrzll d-E ji qr} qr+ dr& T{#r{d
6H d rten*q e-r* q-{ @iT @=T.rT

(A)ffia- arsl$
(B) C-DNA ansnff
(C) DNA- ang+igt
(D)ffitrrc2r

15. When the individuals of a population have
different sequences in the DNA at a pariicular
chromosome region such that the scientists can
distinguish the individuals, Such DNA marxers
are said to be?

(A) Monomorphic
(B) Polymorphic

{C) Isomorphic

(D) lsoschizomeric

fia=fl g.RIt rrz fblll q-ir{dle{ d dtUaU
6t 6-S fr fu"i f?p-rq zerra qr qEqf?id
6Bqi ffr ?, g{r dr6- * fu' ffi6
!-A-6 @-fu o) craqra a-d r 5-€ d-{6 A
Sttas-.reto-r a] wr 6-54 E ?
(n)affiItfo
(e)uffio
(C)engrffi1i6-o
(D):rrg:r}{.ilFo-} aiRE;

-o- --:\tlol cD

6a
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l-6. For the production of therapeutic proteins
which choice of the host for expression system
will be the best for fast, inexpensive, safe large
scale, low cost and easy storage?

(A) Mammalian cell lines

(B) Bacteria

(C) Insect cells

(D) Plants

ssfta, EF-d {s qz, gzRra, srfero arqr,
eb-#r drdrcT qrfr, T€d"rT i ?i"Rrd zbE
ull ticl:ol cITd qdgrg{fEffi qfd|;l EFI

Erfrf'r d;-{a A frr-+ aF}"d * +{.d
ft-6r-q z{-ciltra *an r

(A)r+arrS znlfirtni. oa
(a)ffiFe-r
/-\ --q-.- --tr$, . r-
IL/ cr)lc c{)l l<lcI)l<-]

(D)qr<lr

17. Which of the following statistical tests is

widely used to test the independence of
attributes and to test the goodness of fit in

genetics experiments.

(A) F-Test

(B) t-test
(C) Chi-square test
(D) s.D.

ddfum fr dd sr z+i$reft q-Eer"T qgcr
oq * q-q)il- fr arqr qrar B 6ti {qdTdr
d ort d J=dfdfq qrcJ aen sfl.bt gs+fl
zfr qrgl zff qr$ E r

(A) F -v$erw
(B) t- vfiaior
,/^\ ---,-J 

-\-- 
.r^-

[L, cbl$-ttiidz qZIAfqI

(D) s.D.

18. NCBI is a?

(A) Primary database

(B) Secondary data base

(C) Composite database

(D) Not at all a database

NCBITr E z
(A)qrzBaro *r+
(g)kftqo }erttr
(c)BBrd 3eldr+
(D)ft;"ft eft s-qrru or ffiz+ a-S

19. Phylogenetic analyses deals with the ?

(A) Environmental biology

(B) Climate change

(C) Evolutionary relatedness

(D) Genetics

qTftrg-ff-q Retq'r fu-r+ * fta-$ ft;qr qrar
Bz
(A)qqfd-{q fuflra
(B)qrFr€ftftrfr1 q.frerda

(C)r_<korufta zftierar
(o)srgqiftr+t

20. Henderson - Hasselbach equation is

important in the?

(A) Buffer solutions preparation

(B) Selection of a buffer
(C) Measurements of pH

(D) Electrochemical study of a single cell

ds-€ra--€-..aa r{"ffa-"ur o-ai ae-eq4 3
(A)emz ftffiq-a qar+ fr
(B)ffi qmz t garo ol} *
(C) PH affq-; A Gr+
(D) ft6-{ft e*f}ror 6t fuga,rrrre-a 3T€qq-a
4t
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21,. Following is not the function of lipids in
plants?

(A) Signal transduction
(B) Membrane stability
(C) Energy storage

(D) Osmoregulation

qr+fr d frrqfufta-a o-rd qs{r o-r a-S B
(A)"i*d qurtl-$l
(B)Rrd eff *nFrco #
(C)s-si A 

"i6-d-dr 
d

(o) snr$tg*era d

22. What positions of nitrogen in a purine ring-
are not involved in hydrogen bonds of base
pairs in a DNA molecule?
(A) N -3, N-7, N-g

(B) N -3, N-7, N-8

(c) N -3, N-8, N-9

(D) N -7, N-9, N-9

ffi DNA + 3rg d, qftd d dr€-+q-oT
q{ erg*a tier F-n:r Base efoar a} qa}
zra-q afr *.n E I

(A) N -3, N-7, N-9

(B) N -3, N-7, N-g

(c) N -3, N-8, N-9

(D) N -7, N-9, N-g

23. Which of the following statements is NOT
correct a bout Bioenergetics?

(A) Cells require sources of free energy
(B) Living cells constantly perform work
(C) ATP is the chemical link between catabolism
and anabolism

(D) Biological reactions are not influenced'by
entropy

ofrtr scf E\ zftier d +d-g1t q,-er6r r{?.er
-----c! \qlSt 6

(A)olfirorsii aE] Tq"iT sqf eft 3{Tseqrn-dr.\cr \Srcl| 6
(B)E*Rr.FT-$ trria-a-u o-rd riqrFa 6-{e e
/at =>,,=)f-, -. ,, ,, \c\. _\(L, Eb-efdTfFliFT e uqtqls'u+l cb fie 6l
zrca'qh.F ft-ien ATp *ar E r

(D) dftr6' ffi tr€hff z] qa+6ta u'ff*ff tsr

24. The Following statement is NOT correcr
about Glycolysis?

(A) Glycolysis is universal
(B) Glycolysis results into formation of pyruvic
acid

(C) Cytosolic enzymes are not involved in
glycolysis

(D) ATP is invested during glycolysis

a-err€.blfuRrzi A ert d da r{T 6erEr.-..'....-- ---tt" \<1(=.1 6161 6

(n)a-arcalhftrr+ z+aft ff fr dar Br
(g) a-dr€-+]ft{ft-€ * qre-datr 3TE- 6r
B.qiq *arr ? r

(C) ffia-rffio ft-oTea crrr a-errc-"blFilii"T fr
*arcra a-S *dr B
(o)a-argd+Rtrff{ + +na ATp a,d aff *al
Br

25. TCA cycle was discovered bv?
(A) Krebs

(B) Krebs and walker
(C)Wilson

(D) Wilson and walker

TCA s-o or erfrwrz b-€-e fuqr z
(A)+dz{ (B)del aerT qr6z
(C)ftr€-a (D)E--€-a ilerT qTeF{
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26. Which of the follolving factors does not
influence the rate of enzyme reactions?
(A) Enzyme concentration
(B)Temperature

(C) Environmental poilution
(D) Substrate concentration

f?rrlE-'r flerr dl tnJ.rrlr
?6crr B I

(A)f:r,u-<a q5l triqar
(B)aruarr;i

(C)verf+wfiq q(sr-r
(D)tl-d-+}c tnt t+irar

ucc+t qerrq$la

27. Quaternary structure of a protein refers to
the ?

(A) Interaction berween the sub-units of
oligomeric proteins

(B) The relative spatial arrangement of the
linked amino acids

(C) Three dimensrona I structure of the
polypeptide

(D) Super secondary structures of a polypeptide

*&d d e-gff ?iTq-dr anl €T anrcrv $ p
(A) eiffifu ft&a zfi rn& gE'rsefr A*q d q-{"qz zitiq r

(B) ^gaaft erdt* arrd 6-r gddrcrE,
{"rrEr6 ur+IT.I

(C)dflilerns -ff ti;qsn6 zirqan
(O)tiltrriqr-gg eft srer] flafq-o zizE-qr

28. Agitaticn and aerarion in the bioreactors
ens u res ?

(A) Maintenance of aseptic conditions
(B) Exchange of materials
(C) Control of shear stress levels
(D) Avoidance of over heating

Ereil?Lt€{ fr. uf*rra der atgEj{ur crqt
Tqrfra zln-i- E z
(A)sr*ft R€TR +1 crarA E&-.TT

(B) ueraT ;Fr siild-rrelor
(C)e;atzr at;t B-{n an l}reir.,-r
(D) srefEro ard.# * q.rr.n

29. Microorganism used for the production of
citric acid and gluconic acid?
(A)Spirullina

(B) Aspereillus nieer
(C) Lactobacillus 5ubtilis
(D) Methvlophitus

E-6 .cft{rg * r'nEf?sr aen attlb}Gra; srryqara d qqrq trn-+i 5161 g,
(n)tlrre-.*fc{-dr

(e)t'{q-{fu,-a-fi arFw{
(C)ffidfirezr tl-dfafftt.+
(D)Dlar$iilfiaaw

30. Which of the foliowing is NOT an examole of
Bioreactor?

(A) Stirred Tanks (B)Airtift devices
(C) Fluidised beds

(D) Engine immobilization devices

BE fr * EFtq zn orehfltfqgr .r,-T 3-crr6Tsrerfr Br
(A)-+rs }-6 (B)c's-rfti.re; 3s.F?l.r
(C)vqgsrgw z-raa

(D) gfford l*So-s'r Jcrcn-zsr
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31. Vaccines that use components of a

pathogenic organism rather than the whole
organism are called?

(A) Peptide vaccines

(B) 5ub-unit vaccines

(C) Partial-vaccines

( D) Conjugate-vacci nes

d ffid Gir ffi 6"rr} qr& ffs ?b
3t-{qo. 6r sqrqtdr 6-{e }, wrrqR fu qt
*E e*
(A)ter{s ffid
(B) Sub-Unit ffia
(C)sre1S - ffid
(o)a@z-+d{fi-d

32. Which of the following techniques is not
used for producing transgenic animals?
(A) RNA interference
(B) DNA microinjection
(C) Embryonic stem cell

(D) Agro bacterium cell

gis.im.r'- .a--q e-ari a+ i:ffir friEr E"rafr a-fr * wft Er
(A) RNA-$aG+a
(B) DNA- arg6i-+A-€{-d
(C) rxrnq -d;r+r erlfirctr
(D) sald-EdlRqa{ o}fir+-r

33. Which one of the following techniques is

used for producing marker free transgenic
olants?

(A) Barnase bar star technique
(B) Cre -lox recombination system
(C) Marker assisted selection method
(D) Gene Silencing techniques

ariqizsFd qitr$Bo qTTq qani if Frq
# A ffi frGi o-rq fr 6ft qrff Br
(A)qrz*q qrs Edrt frfEr
(B) qtt-eiez+ freffiera q,'rrdt
(C)+rr+'s e& trerq.fi oreft a-e-a fafEr

(D) cfi-a argeRrur frf€reri

34. Bioremediation by the
facilitated by?

(A)Cell Membranes

(B) Plasmids

(C) Mesosomes

(D) lncipient nucleus

microorganisms is

fuflg artr qreiltBHtia S* z+ma *ar
Bz
(A)a*firor ffi
(a)tranu$-s
(c)ffiar
(O)ggqr d-"E-.n

35. G F P used as a biological reporter gene was
isolated from?
(A) Bacteria (B) Virus
(C) Algae (D) Jelly Fish

G F P ffi Sfaqt fuif-d-{ d-a t *rs d
sq-qtrr fb-{rr Erdr }, =-$ ffi *
F--_ _t6lq)tc'lI dl<.1 ll

(n)ffifrar
(C)e)-ora

(B)ilT€{
(D)ffituer
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36. Shoot organogenesis in tissue cultures
results into?

(A) A Bipolar structure that has no vascular
connection with the mother tissue

(B) A monopolar structure that has strong
vascular connection with the mother tissue
(C) A monopolar structure independent of
mother tissue and capable of germination

(D) A biopolar structure attached to mother
tissue.

en-#er Frfrfsr d Eeq. 6c-cru A +Era +dr
B as *E+r *ar E r

(A) rto tre{d-q dTd-dr fu-tr-6-r ar6:-a-en g
E*S ride-d ziaier a-fr A-dr B
(B) u-o-s enfl-q ui"a-dr futl-ol ailE:-d-6 *
are=t zia-aa zieier *ar B r

(c) cro-a gff-q ?iTrrdr * arq_s-f,-d; A
gero frar B aen a.d r<-{i srqft-a # Ei
efrrdT aft rpq-ar B
(D) c'o Bedff 

"i"-q-ar 
ail an-Ese-o "] gs

ddt tsr

37. Which one of the following is a transgenic
crop with enhanced nutritional quality?
(A) Flavor savr tomato
(B) Star link corn

(C) Round up soybean
(D) Golden rice

Ea- ii * dErzft qilr-Aa-o E-urc.r ffi
erf-sro dulrr 6r gsr dar t I

(A)cd-d-{ **z emran

(B)rzr-s f?{o a-eien-r

(C)zr:--s sru' ?iffia
(D)T{Ffa qrra.

38. Increased genetic va ria bility following
extended time in plant tissue cultures is a

phenomenon called?

(A) Gene knoc out
(B) Gene silencing

(C) Somaclonal variations
(D) Gene activation

snflre ffiE-6 ger6?ir -] fteg.
.id-r zl-rrq z-sa qr 3{T qre e
66-A e z
(A)ffia ;fu srrre
(B)d1-a z+rsemai
(C)zffia-a gqzF?n
(D)ffd caffdera

.- _:c
c{)c-T.l t 4l
----\
'Jti q<] |

39. Which of the following techniques is most
suitable for mass multiplication of a plant
species?

(A) Anther culture
(B) Protoplast culture
(C) Single cell culture
(D) Axillary bud culture

ffi qrrq 6r srft Mq 6-{oTT fu-E+
trdfir i darE d Eren-an Ba
(Als--erz 

"iqefd(B)ffiqrs€ 
"iaet{

(C) cren-er eaffirenr ?iq*d
(D) st€R€r oFio-r 

"iqeld

40. For correct identification of a cell line, the
following is a valuable tool?
(A) DNA finger printing

(B) ldiogram

(C) lsozyme pattern (D) Metabolite profiling

!6 q;lf}ror F-fr et zr-fr qrftrra t fii-&
*d rft frfEr sq-ffi E r

(A) DNAtrffiiz
(a)€ffi{ra
(C)erreri-grga H
(D)svru-a-o fisT-ga
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47. Plants infected
tumefaciens becomes
production of?
(A) Opines

(B) Acetosyringones

(C) Flavonoids

(D) Alkaloids

with Agrobacterium
a factory for the

nitctl e Errlr

to

is reieased into
of signaling is

:Td g{cr" eti+{.r, Fra;Jei rfttqil6 a}litctOr B.,i E,:r !l<b.t?.n-.I fit,:.i._i f:ffil
.F-r gqql.r aim B z
(A)'Jrr+l"t
(8)u-")+*a
(C) ;e1ir=ia

(D)alercncifiicn

45. What does a iarget celi requrre to respond
to an extraceiir_rlar signal moiecuie?
(A) Access io the signai moiecuie
(B) Receptor for tne signal molecule
(C) Intracellular signaling pathways
(D) All the above

UcI; +'iflr+,r z] c{ter{ ltraaaq 3{,rJ -.bl
sqft€rft zbr rl-qr-.i .+eq -oil}+,-r -}" trd
F:r-A fh* -gS arqr 3rEaerzbar -d* E I

(A)frra-d-d 3iIg ilcn rrg.r
(B)firr-d-6r 3rg d tril+ R*Edr
(C)aifiro"r * si6{ Rr-a-q.a a}-n-"} +,r -.i=
(D) sutltnr rraft r

tto.rD.rilli-el+r cc{tirBli+w r) ti+fira rlreq
l-.ni aral* .r$ 6<rS -"r-.a -.;rr.n B r

(A)srYvrgatr

(B) ifi+alDrfior);i
(C)u").rlaY€t€{

{D}s.F-Sci\-sl€

42. On a laboratory scale, plants have
genetically modified to produce?
(A) Edible vaccines

(B) Energy drinks
(C) Pharmaceuticals

(D) Soft Drinks

qqlurerrclr a\ -{fr-T qz ftsfr a;} #fdq;r] q1icRfu ftF'sl ar-err B Aa-d * *'e-"n-i .i i}'*
(A)?jrra elaer *+rffa
(tl).s,,it tzr
(C) mrtarrte{t+;an+
(o)tu'' r<ref

43. Iniormation is converted from one form
another during which process?
(A) Signal transduction
(B) Signal rransformation
(C) Signal interference
(D) Signel cjuplication

been

5.q

sin .1 q.i.i ai mrrior.'r 61
Tcb-qr E6 eTZrq z
(A)Rra-d-d pies.rn'i
( B) Rla"rcr gi ziri,)ralera
(C)firaaa f,azr})u
(D)fuaaa. E5#er;1

44. When the hormone insuiin
the bloodstream, what form
being used?

(A) Paracrine

(B) Endocrine

(C) Neuronal

(D) Metabolomic

lre /)9161ggt, Iic ', i, s-A Page | 10
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46. Under what circumstances a target cell can
quickly respond to an extracellular signal?
(A) When the cell does not require a recepror
(B) When the response does not required target
cell protein to be altereo.
(C) When the response does not require a new
gene transcription
(D) The above conditions can make no
difference.

ftr€ qf:flef?rd fr crE Erqq enlfiror
oqe-*nf}rcnt fu.rd-d aft -rre ff q-6-drd 6-{
GErrer i arotff tt
(A) ind enlRrear 6f ffi f:"]r€z eff
3lTEQqcF?iT d-fr d
(B) arq d€q lhed E+ qliaHa 6-r|} Eff
3ffdeq'zn?rT a d r

(C) .n-s qqr.r + H f#t a-+ .f,fd t
eie-otq-s-a eft srrqeq.F-a"r a-6 a) r

(D) 3q-n-4d qffiq6=1 go a-fi o-z zro-ft
6l

47. What type of receptors is used by steroid
hormones?

{A) cell surface receptors
(B) Lon-channel-co upled receptors
(C) Nuclear receptors (D) Allthe above

T$ngs arafrq ei E c{ a-ra * R*€-{ Eff
sffEeero-aT +.fi ts
(A)znifirci'r zrdfr ftn-rd-{
(B)srre-a iaer * zftifEra t*cz-{
(C)d"=tF fiz)€-{
(D) suzlati lrelt

48. Extracellular signal molecules act on cell _

surface rather than intracellular receptors why?
(A) They are too large

(B) They are too hydrophitic
(C) Both A and B

(D) None ofthe above

sid' .nlftr.ji )*-zz En gd.1r +]
oq-e-oleffi *E? 3rg, olfir.i;-r* Eft zl-ire.
rrE 6rd 6-r} ?, -g} t
(A)i snqia q+ dA *
(B)i sranf-ero er-gE]fu;ftrcF EH B
(C)3q-$En A & B

(D)sv:)-+e er)€ afi

49. Many drugs act by binding to the?
(A) Protein kinesis

(B)Cyclic AMP
(C) Nuclear receptors
(D) Cell Surface receptors

o-S qar f?,rfi z] Eg.F" tnrd a:ztff E
(A)r}-A'a o-rgtor
(B)zr-E-d"en AMp
(C)qffi+-r firles
(D) alRrol e-.rdt R*!-{

50. Ca++ is an important messenger in which
type of organisms?

(A)Animals

(B) Plants

(C) All eukaryotic organisms
(D) All prokaryotes

Ca++ fu-E+ ffi-E a} ati; rr;_r{n qr-d.F a}cr E
(A)uigsfr af

(B)m€ii d
(C)r+eft qdfula d
(D)z+aft s}-Aftq}_cr +t
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51. Which of the following signal molecule is
not used by the plants?

(A) GPCR (B) Cyctic AMp
(C) Ca++

(D) Enzyme - coupled receptors

trr#a ji d e*-a- zrr tr{r-d-6T 3rE qraq jt
r$rrT a-S d-dr B
(A) GPCR (B) Cyclic AMp- zrftlzr aeaff
(C) Ca++

(D) Rto-d-fr-Eb-qErs >*€z

52. The key cause of immortalization of cancer
cells is?

(A) Complete loss of telomeres
(B) Reactivation of telomerase enzvme
(C) Both A and B (D) None of the above

*€-{ '6}RrE;r I srars *} drr q-€r;r drrusrwn Bz
(n)*aftaz 'E r Tff a-cs a dan
(A)affin fuo-q 6r ga-SFd d-dr
(C)sq-n-€ A&B (D)3u_n-nr -.r+S d-fi

53. In the natural immune system?
(A) neutrophils destroy bacteria
(B) Macrophages use nitrous oxide to kill
bacteria

(C) Complement kills bacteria
(D) The monocytes are the precursors of tissue
macrophages

u-€fr sea sftzen ?iT *
(n)@fu-cr ffiFen ai T{rrrcd E;-Ear B
(A) A;aldrw ffiFqr ei Tr+nw s-c} *ftr& arg-c-c+ sferrgs mra fr * B
{C)tnrae-effiz * azffiFqr a-{e E
{D) sao :ffid;r d \nE1.F ar+c{Te-e -.ne
6l

54. Which one of the following statement is
correct about inflammatory response of the
immune system?

(A) Tissue swelling is the first stage
(B) Mast cells secrete chemotactic agents that
attract lymphocytes

(C) Macrophages secrete vasoactive materials
(D) Antibodies bind to the surface of the
microorganism

qftzeil eiT fr Eaq5-HA qftB-qr d altfr d)zT T{T .Fera T€ e
(A)s-ao; {dorcr qera 3rd-{€rl *ff e
(B) artz EblfiroTU zrrrqFo dccr ErrFd-d6-re B, q) Fzql)Er5d Eb] anerft-d 6-{dt,

iay "u-,-*- ffi,z_q q-{ref *xrflaa qr".rT

L1a**= qff z{-d L-z qFfF.rog aifira 6}ql& ? r

55. Which of the following statements is correct
about Lymphocytes?

(A) They are most abundant white cells of the
blood

(B) They leave the blood at the site of infection
(C) They respond to the antigen in the exrra
cellular fluid
(D) The B-lymphocytes become plasma ceils

F-+oi-*nee n 
"inif€rd 

BEr fr * ola.:rrq,-era grg B r

(A)i *m at ei-a udftro-ru e -il q-garq-dalBHts
(B) + d;nDra rena qz ?ffir * EerE, drqrtft B r

{C) orqqoY}rent E@ A tr*qa .Fr ur.rrq*ff tsr

1O) g 6fte+c{r$,d ElrqffT zalRror dEr .rrff
ol
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56. What is correct about T_Lymphocytes?
(A) They mature in thyroid gland
(B) They secrete cytotoxic material
(C) They respond to proteins on the surface of
the host cells

(D) They secrete lgB when activated

f - F-anltrrge * 
"iEifl€t-d 

d-d r{r .n.erd
{{-& e
(n)n errg?r{s ajeft fr rrftq-m # e
(B)+ eblfirs"rleft rq cFr ?Trd=i rn-.e B
(C) * olfir+-r of tr.a-s q{ trr+ u.rA ?rr&q)-&a 6r Gqrtr * t r

(D)* tgB 6r rrrEEr 6-r} B

57. What is true?
(A) The antigen receptor has the same
specificity as the antibodv
(B) lgM crosses the placenta and provides
protection to the fetus
(C) T-lymphocytes secrete tgM
(D) Antibody has two ideniical antigen bindine
sites in the Fc region

mrr zr& B
(n)p-d-wq arrs aft trf fi fufirsar- sta-dB Srft Eft crffi
(B) lgM q-al21,* ebl qrr6-{ 3xn si gE€rT
frfrar +=.r B r

(C) f- ffi€re-d tgM err+o-r o-cen ts
(D) crffi d * rr-6 T{arr61 w61_u.aq-6-s* ar& t<rrs Fc worc q-s fr B

58. Gases can cross the plasma membrane by?
(A) Passive diffusion through the lipid bilayer
(B) Secondary active transept
(C) Specific gas transport protein
(D) Primary active transport

-.r,]f}r.Fr Brd enl iltr *t] int Errr r{cFclf
6

(A) e-trr 6t ffi 
"i-d-6 

* Beie err-r *g-ZTr{ur arzr
(e)ffiq-6 z{erl-q qR+aa *
C)RfQre +g{ rrFd-€rq !ilA-d *
(D) vrah.r,- rrol_q qf?oe-€i

59, A substance can be accumulated
electro chemical gradient by?
(A) Facilitated diffusron
(B) Active transport
(C) Diffusion through a Uniport
(D) Passive transport

aga inst its

1;r€^ u-cref E-rj-S Ega zflrqEr sfE-qrar +
_F*B- aft fu-{r s--; "} a-cFB-cr-S .r---
c,

(A)g{a€flgFd qerreoT

(Blzrftn-q qEq-6-dr

(C)u-o-a *Etrr arsr q-itrrur
(D)B'eb-q qft-d-6a-

60. The principal intracellular cation is?

(A)cl-

(C) Na.

gw sia,ar,)Rrirff sr;rrqa B r

(A) cl- (B) K.
(c) Na* (D) Ca2*

(B) K-

(D) Ca2*

I
t
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51.. The Sodium pump is?

(A) Exchange extracellular Na* for intracellular
k*

(B) lmportant ion channel
(C) inhibited by metabolic poison
(D) important to mainiain the celi volume

siJBqar qE zrqr B
(A) .ir-q+ Na* q,t 3ia, olRr.d) k* r) slqrd
q-qla

(B)ug*r 3{f4rd ?trG-.r,i

(C)suruau.{ ciae z} f}rfioq
(D)ealRror 3lrqre{ en} erar* zs}
+fE-chr

62. The resting membrane potential
is determined by?

{A) K'gradient (B) Ca2. gradient

(C) Na- gradient (D) Cl gradient

ll{knr{€rT "} t}-+t erelil .}zJ -dra
6-{A E

(A) A lipid celt nrembrane
(B) A nuclear membrane
(C) Intracellular organelles
(D) Presence of mitochondria

tlaft ElfirEolsfr ji el.{r 
"raTreT?rT 

E
(A)Ttrr -.rfr +jfQ.-"Et f#)
(B)*Er ofr fi-E1 (C) sia, elfiroror
(o) -qrget6]F+;r dj sqftrrrff

65. Pluripotcnt cells?

(A) Can differeni ja:e into different cell types
(B) Are term ina I ly d ifferentiated
(C) Can different,are into whole organism
(D) Can differert ::e iiio any organ

argg.n{g+.: .l{ '--;
(A) egv.r,r-z -5'- -.f z:: q.ne +i allt-a eliEit afdial riJr-oiT

(B)sifta :"'i a :r?a jr -'lr-.{r

(C) tiqf 'oiq -; -;?q?'a a) -6'rdr

(D)l-6?ft sizi * 
=-crGda d cn-+i

66. Wnat l1,,pes cf ocnds connect the DNA base
pairs?

(A) Hycrc5e ocnos {B) Covalent bonds
(C) lonic 3o.cs (D)Allthe above three

DNA.F -r"r-gaa1 ji q;lzr z] aiq 613' B
(A)ers€ca "rer (B).+,.r)a*-e tiu
(C) srreifi-a,- aiel (D):vzi.;a rraf)

67. Human

(A)46
genome contains hov; many genes?

t u-gzr

(A) K.srgq-6

(C) Na'3rgqrd

(B) Ca2.srgq;6

(D) Cl 3rgqrEr

63. Function of rough ER is?

(A) Synthesis of proteins
(B) Synthesis of ribosome
(C) Synthesis of membrane iipids
(D) Fat delivery to rhe Golgi bodies

5€{ ER ft-T .rerr ald B
(A)*Aa Er l}i-+ri.'r

(B)e6ctr*ia sr ta-rrf"T
(C) f,Sc"fi azrT c=,.r fli+rf"l
(D)aii-cailo'rq a,i drJr !r-dtr dr.i..-il

54. What is cornmon to ail celis?

(c) >100000

a+rc-.lofi*al fi ftii-.ra
(A) ae
(C) >r oooco

(B) 20CC0-30000

(D) >3 Lakh

.iiar *i E
(B) zocoo-3ooo0
(D) > e .-irrrl
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68. Telomeres?

(A) Contain repeated nucleotide sequences that
that are required for the ends of chromosomes

(B) Allow duplicated chromosomes to separate
ciuring mitosis

(C) Caps the enCs of the DNA

{D) A and C

tr*FrqE z
(A) srle; czn dtft qg*Weres sis-d.r d
b g-r {* * sif}a sH qz qrH
(B) ar€4ft-tr B-+l A q*" EgFrzr g+g'r {fr a} geren 6:re d
(C) DNA * siftar ff tn] ffi-e E
(D)3q-*mrAaen C

69. The complex of DNA and protein in
chromosomes is calied?

(A) Centromeres (B) Histone
(C) Centrosome (D) Chrorratin

gq-cgrt -fr- DNA aal !H6 d {q6 6l
e11 q--6] ! 1

(A)@afrae (ts) ?{aa
(C)"]-"(H-ar (O)oBEa

70. Histones pacK DNA rnto a repeating array of
DNA- protein particies cailed?
(A)Heterochromatin (B)Nucleosomes

(C) Eachron'lairn (D) hlucleoli

71". The core histone proteins have tails that can
be chemically modified by what types of
groups?

(A) Acetyl

(C) Methyl

(B) Phosphate

(D)Allthe above

lBrAa DNA d c?r g4ngd qtrr arA DNA
d8'.: a'rr i z+elilai miar * ftrA 6_d*
c)

(A) Barln}*fbi (B) a:.qafi:q):*ar
(C) qplariii"r (D)z"IE€{tffi

g{'q Ft*er frdffr 6t 3RzrEdan 6}
slrrqEiti; s.q ri Eer gq 61il rrft4ffia
l)rr-err .'lt z{errrdT B ?
(A) ul?iergcr (B)w"e$e
(C)liraigr-r {D)srz}+a zraft

72. Cell division cannot be stopped in which
phase?

(A) c1 phase

(C) S - Phase

(B) G2 phase

(D) Prophase

Fr'tr 3{zrJen * a}f}rtnr lta+raia +t f}-{rr
.b] ztstr a-fr ql ?t"F"ir
(A) G1- 3{-cru€n (B) G2- 3tcrueiT

(C) S- sr+err (D)s.|t}.T

73. During prophase -l of meiosis what does not
occu rs?

(A) Compaction of chromosomes
(B) Formation of synaptonemal complex
(C) Formation of recombinational nodules
(D) Dissolution of synaptonomal complex

srdqft ftarr-ra Ebt qeru-{ 3{ir{€rT d EErr.rdl elar B

(A) E"ralarJ .r,r u.i1g.la

(B) firai.e)Gret-ct .nYzrrci+?.{ ebl .IciEtr

(c)fr-d'tr$.]era lt.'s 'q;r E-arfu
( D ) Rrq *"fiaret enYrqd+21 q5r Fderir.r
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74. Arrange the following events of meiosis incorrect sequence?

| - Terminalization
ll- Crossing Over
lll- Synapsis

lV- Disjunction of genomes

(A) il | lv ill
(B) ilt il r tv
(c) lv lil il r

(D) I tv lll rl

(C)glr+i 4 sr+rere dfi E r

(D)rrs B-Er-rsii of tla_+rgr{rr gk eE Eieft eeifar ti

76. Bacterial cultures can be growncontinuously in a?
(A) Chemostat (B) Hemostat
(C) Coulter counter (D) Hausser chamber

B-qrq Tioefa 6i ft-ra-sdT + Tiler ffiE-qr--it tl-oar E 
I rL.L\r' qr <J

(A)'o,1a1=3- (B)Gaq,trid
(C)6fd{ d5l-id-{ (D)sr.=7;r oeT

77. Starvation proterns are produced by aoacterial culture Cur rg?
(A) Lae phase (B) LoC phase
(C) Stationary phase (D) At all iimes

fu-qrg dqcrzr t a:Fa_S era *Ea,' fu_ur3rqzerr t 
"Ei b

(A)+il 3icr:_€rr (B)dhT 3{crg€rr
(C)Tflrrdr si_-z€rr (o)sq_*cm ?reft

78. Balanced polymorphism occurs when?
(A) There is selection against homozygous
recesslve individuals
(B) There is selection against homozygous
dominant individuals
(C) There is selectior

{D) There is serectioJ 
agarnst all homozygotes

r agarnst heterozygotes

Tigfrd ffiffiqzr o-o atar E z
(A) crq. i*ftr-d wa d 1trdrna-q-a. ddT B

the

sre$ fu+rre-o E& trErr$ o-q * q#rrs er+Eenefr Ed

dcnzru*e d ftraltn irqa

tr-alqrtnri-c ci fo-.a;q5 
"-cta

l- eFflarslera
ll- olFizr sn+E
lll- ffiaa1
lV - ffiq 6T B€uiaera

(A) lt I lv ill
(B) ill il r tv
(c) lv ill lt ,

(D) | tv ill tl

75. Which is not the characteristic of a growth
curve?

(A) Can be plotted with logarithmic numbers
(B) Can be plotted with number of microbesversus time
(C) Growth curve has 4 phases
iD) Growth curve shows development ofmicrobial population over time.

* S 
E-mter * E*"a- * g* drdr d-s

g***-rfr.rken *ren * eft ?fi-qr aiT
!'Y/\|l -' I

S)anSFia. 61 ?i@r ?{aTT Trdrq eff urft tR-2fl-q ?i aft ?ffET u-Tl rro;cr ts r

(B) u-a *;s)=*\-/ v'H arqtqtFdl?{ *-ni,;fe-ara eb\ fu--",*qq-a +.rr E
/(^l 

-^- -^cr\-/ vrv (lftl

*ai B
(D) u-o T{fi
6)dl B
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79. Which can prevent extinction of a rae
in which homozygous condition is lethal?
(A)A new mutation
(B) Genetic drift
(C) Balanced polymorphism

(D) Assortative mating

q-6i 
"l-fi-ga-fi-s 

slcr{€fi ;7qqTu' E
ffi g.far srfta a* ?raTqr- die *
erqr w-.F-ar B z
(A)A-cn zrqr :,cqftEd'a
(e)#furg6-ra
(C)tl-Eft-ir qgscr-r
/n\ -_.s- 

-

\t-li <{<{lqcl qolol

_l

DNA uftrq,ft A zftier if €}a r{T 6el-a
-._ -Jl 

:n-
<1 c<.,1 olSl 6

(A)q-a cm sref zizeTor qB-qr ts
(B) DNA wkpfr dt flernE-r srzradira ffi
6

(c)g$ zrsrqa-qEn-qr erftd ffi e
(D).re go sref frelqqr qGi,sr B

82. 'Bulky lesions' created by the covalent
reaction of DNA bases with large hydrocarbons
are repaired by?

(A) Base excision repair
(B) Direct chemical reversal

(C) Nucleotide excision repair
(D) Homologous recombination

a llele

vcrl
_s_q)l ol

80. Transmisison of gens that occur oursloe
nucleus is called?

(A) Extra Nuclear inheritance
(B) Cytoplasmic inheritance

(C) Both A and B

(D) Epigenetics

#< t e,gz d cfi*a arr fui-crs"r +il tss* Eiirr en-e-t E Z

(A)ti-<rea. sqarQ +.zi-r

/Rl#' .:=fr-a-dl
(C) A aen B e-izi fr
/n\ ,,(}, ', 'i-\u/ urrt\'lclc<ri.1

81. Which of the following statement is NOT
true about DNA replication?

(A) lt is semi conservative
(B) DNA replication fork is asvmmetrical
(C) lt requires proof reading mechanisms
(D) lt is a semi dispersrve process

effn ?i"-trdr DNA eff 6Hd
DNA a-c{ aet-i € arg+6'rdGr A
€itc1t 6 I

(A)fur .r] rcrer,-z eilA.{H
(B)rftfi .*;+Fae.,- fuu-{td b-qr
(C) eqmffiargs e-er.F-r +TFFftr
(D)tl-qreq ftzata#era

Dtrr' ar{r
aI?n1ffi :)

83. Holiday junctions are often formed during?
(A) Replication

(B) Homologous recombination
(C) Transcription

(D) Proof reading

ffi* 
"iardr 

a;-o ezri t Z

(A)qfrrEEfr ntraf.'r
(S)"ffireer ffiera
(C)qtrr+tn-a

(D) zralq-"1 q-6;1
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87. lnheritance of blood group in h:_:_s rs
governed by?

(A) Polygenes

(B) Multiple alletes

(C) Duplicate genes

(D) Incomplete dcr-ninance

84. Different proteins can rise from the same
gene due to?
(A) Aliernate splicing
(B) Pseudo genes

(C) Multiple alleies
(D) Frame shift mutations

Lt F & di-"T * srfrrr srcilar gh8*d ardti.n* B .rcfifen Dut e) .r** B 
-

{A)erc.rur -dr6 + q}g r}
(B)a-E -S Efi-.r *
(C)vgsrffi
{O)ffiue s?qfr""{q

85. Which of the following is NOT an advantage
in using pea for mendel's experiments?
(A) Bisexual Flowers

(B) Self fertilization
(C) Contrasting characters

{D) Dicotyledonous plant

*-s-m * qelar] al -.r,)+En .il?6 a{-d{ a}6tar rq-Szft a-S e
(A)Eltiaff g*r
(B)".{ Biq"i
{c)fa-q$d glT
(D)-Sqff .rrqq

86. How many different types of genotypes will
be obtained in a Trihydrid cross?

88. A ratio of 1: i: l: j. ;s a dihybrid test cross
suggests that?
(A) Four alleles are s:_e:€: o:i different pairs of
chromosomes

(B) Four alleles are 1ci ):!eieC on different
pairs of chromosomes
(C) The two characters are ii.(e,:
(D) Law of independenl assor-ir.te..tt rs not
working

+Ii-qiE E]Fd *
derrganr # E
(A)d-g#}
(c)traftdt

TcH {{gE tr?i -fiF -

(a)<gr,ff
(D)srcgi u_€-.=r

3fEl]ld Fntfl
gglEr B

gq"1e .'il€i aT

g<ft 1: 'l : 1: I cFT
Fg-+im-z'r * )rzoyr+ * an
(A) arE srefi-or s{c.r.)T 3lda-r*aE
(-S) ** sr"ft.{ 3rc{.rr 3rd.rf g.rrF t d}slfra-S*eE
(c)d g"T 3rrqrr a] ga EH E
(D) T{E"i-T gerft-dT E,l fuzT qftqrlEo e-Fd z_sr Er -

(A) 27

(c) e

(B) 8

(D) 12

q6 ;ft+i.nWr aJ ffi 3{c-rrr qcFrt. afiafuilenrq qa tro-] E
(A) 27 (B) 8
(c) s (D) 12
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89. Body colour in cats is controlled by sex
linked gene on the x-chromosome. In cai black
colour is dominant to yellow colour. A black
male and a yellow female had offspring's in L

yellow male: L yellow female. Which of the
foliowing statements is true based on the above
cross?

(A) Heterogametic sex in the cat is the male
(B) Heterogametic sex in the cat is the fernale
(C) Heterogametic sex in the cat could be ooth
male and female

(D) Parent generation was not homozygous for
body colour

ef8-{ 6r rrT fdia- Frqfz.,r zb-Ta et-A i
g.'f t1e trz fdfutfr d srslt€ra -+fl B
Rfta-$i fr orar tdr .fr* qz q-da ??ffiT
E rtcn a-s ail'.fr Crd o fi.ft -:-<r t+e*
* q* I : 1 3rgrrr.r (i *fr a? : I

tfieft ar<r) aT Dcr ge) r {11 3lr€ri? trz el,)a
?TI GFE]EI ?Tfr E
(A)az fr fis'erga+r+5i Giar
(B)arrcr i' i?ruqgasr.ii ltjzr
(C)az q drrdT e)fr ai dt truarga-+"r+t tri"r
(D) c.'azn ftA erSz d Tdr A fu+
rra-Eaaffi a-fr eft r

90. A gene is said to be epistatic r,vhen?

(A) lts presence suppresses the effect of a gene
at another locus

(B) lt does not supcfess the hypostatic gene

(C) lt is not don'rinant

(D) lt is not co-domrnant

# ffa .n-o a.affijten m-e"aran ts
(A) Efl-e rqfteft ti 3rff-r .bt€ fia
qa+ra-Sa d 'nzn E
(B) e-e erEqHiaq, -.fi2r -.ri qarrq fia- erfi
c{.)(c1 | 6

(C)qs qan-ff -"rfr ?
(D)q-s rrs-ire{Fff a{} afr B

anaqqlfd -d qr$ cri otdj sr3Er fir+r{
Frrr orror -a]_fl. t z
(A)pr*ertaft (B) a-c{1*taft
(C)affiwH (D)arr+c,i}a

92. Point mutations involve?
(A) Deletion (B) Duplication
(C) Change in single base pair

(D) Allthe above

A-g saiffix zsr B z
(A) dlcfirr-i (B)gcfi.iera
(C)uo .fler a] s.{rRsd":
(D)su-*etr e+ft

93. Enzyme that catalyzes strand transfer during
recombination is ?

(A) Recombinase (B) Transferase
(C) Helicase (D) Gyrase

ffiera A *-zr"r tr-.r .id
"€Trdjarur 

ftr-c{ lb-a t grzi o-rni
6l

91. Down's syndrome
to?
(A)Trisomy

(C) Monosomy

(n)ft.nHH"o
/-\5,f\ \ .
\Li €51c,]<D\t

found in humans is oue

(B) Nullisomy

(D) Lethal gene

(B)qidcriq
(D)anelt.t

6lcl I

94. Virus free plants can be produced by?
(A) Embryo culture (B) Meristem culture
(C) Root culture (D)Anther cuiture

ftqlg"fe.{ tneq ** "rar* cn zr.tr} } a
(a) aXrviq€lb- (B)*Ha zisefa
(C)qE ?r,.i€f.f (D)rrrrat_a--)r{ 

"iqtl"r
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95. Chargaff's rule states that in DNA
(A) Amount of G equal to amount of C

(B) Amount of T equal to amount of C

(C) All DNA contains equal amount of A,T,C,G
(D) RNA has equal amount of A&U

ilans eil B'erd{ qfrqrfra 6-{?tT ts tr,
DNA fr
(A) G slr C eft ar+r 6r Lr6 trara. *ar
(B)Tslz Ceff ar*r ear Lr6 trqra dar
(c) z+eft DNA d A, T, c, G +} arrr c.b.sarra *ar
(D) RNA fr A 3fu U eft arxr ware dan

96. How bacterium does protect its DNA from
cleavage by its own restriction nucleases?
(A) DNA ligase re-seals the target DNA
(B) Proteins attach to the target DNA
(C) Chemical modification of the target

sequence

(D) Allthe above

ffifter srqi DNA ed sru-fi 6y tz*ei-a
c'qrgff * fu_d-d-d * g-uet N +-car- B r

(A) DNA engolo zlrfl- dqq DNA en-r T4,qt{dr
(B)aeq DNA Erz *erd 6r s{r6rd-d
{C) aeu .FBd E r -Ersrrqtr-.F qPs.id Er,T
+ar
(D):v**r r++ft r

97. When population is small, some alleles mav
become fixed in that population due to?
(A) Inbreeding (B) Heterosis

{C) Genetic Drift
( D)Genetic recombination

qd crd*$@l il;d
c-d-ri@[ *l Rerear

(A)sia, Efsera
(c)ddftm glqe
(D)HF€ fro)-affi*era

98. During electrophoresis DNA rojecutes
move from?
(A) Negative to oositive
(B) Basic to acidic

(C) Long to short
(D) Positive to regarive

g;@tnnr * DNA srE fu-e+ si-{ qtr}
a

(n)ftona-o ri u-.sau
(B)effftq * sr€-:l
(c)d-r+ A d>
(D) erarao * ft!-.==

99. Transgenic animals a.e tf.:se,,,;:rich
(A) Foreign DNA in all jts ce ts

(B) Foreign DNA in some o.,is :e :
(C) Foreign nucleus

(D) All the above

eizrlE-o -rgsii d -?r e
(A)qr-ff DNA g{r& r;a-,i oif}ransfr
(B)qreff DNA qe ffrorsfr *t
(c)eiaei +-d
(D)sqi€ saff

100. The first transgenrc plant was?
(A)Tobacco (B) Cotton
(C) Maize (D) Rice

Uerar piZ+dF"r.n qrcq .d=i zrr B Z
(A) oa<eq (B)q;tnrr
(C)ar.nnr (D) ar+cr

A -.-t'l zr* a-$-q,r (rr 13u 51c.llc.1
erq-6-r*EN
(e)HF{-{r

have?

:EI
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